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CSeq: 1 INVITE

IP

SDP: Session Discription Protocol



2007

INVITE
—

‘IIIIII]I-QIOIT!PYIirI]QIIIIII

180 Ringing

200 OK

-

SIP

INVITE
—

180 Ringing

200 OK

ACK

<

>

BYE
200 OK




2007

SIP
IP
DNS SIP
DNS SIP SDP
RTP/RTCP
UDP
IP
SIP - o
SIP

IP

DNS: Domain Name
System
SIP: Session Initiation
Protocol
SDP: Session Description
Protocol
RTP: Real-time Transport
Protocol
RTCP: Real-time Transport
Control Protocol
UDP: User Datagram
Protocol



2007

g
SIP

192 100.10. 10!

SIP
SIP
B -
userB@
y B 4‘ B :E domainB.com

i IP i

IP : iy
192 100.10. 10: 97192.100.10.10 5 SIP

serB@
domainB.com

SIP




2007 IP
IP

VoIP-TA
IP




2007

IP

IP

AB

AB

ABCDEFGHJ




2007

IP

41

o L P
A R >80, < 100ms
B R>70, < 150ms
C: R>50, < 400ms
C
AB J




2007




2007

Sl:

t Step Index

0.3%

Gl:
' Graded Index
1%

D




2007

9um

-
-
Phe
-
-
-
-
e
-
-

50/62.5um l

R NS W A a
e




2007

~ e=¢gn (i=12)
1= p,

o=0

, J=0

r]i

1

0B

(VXE =—-—

ot
oD

VxH=J+—
V-D=0

ot

V-B=0

(3.1)

(3.2)
(3.3)

(3.4)

> (3.5)

-/

E = Eo(x,y

’ Z)e ja)t

H=H O(x, Y, z)ej“’t

} (3.6)



2007

(3.5),(3.6) (81,32

V x EO:—ja),uOHO (3.7)
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